
Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 1/7
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

2 357719 1 PC Switch 3LD2 assy

4 357603 1 PC Lamp 24 V green

5 357655 1 PC Diode green

6 357589 2 PC Lid green

7 357604 1 PC Lamp 24 V red

8 357605 1 PC Diode red

9 357653 1 PC Lid red

10 2042359 1 PC Switch Vorschub / Feed

13 276790 2 PC Protective cap assy

15 356977 1 PC Fuse assy

16 356850 1 PC Protective cap

17 358456 1 PC Cable harness EB-Control

18 357835 16 PC Hex skt hd cap screw M5x20 MK

19 357654 1 PC Lamp 230 V green

20 357839 1 PC Capacitor R-C Glied 240V

21 357601 1 PC Plug socket 16 A

25 358033 1 PC Diode Nacharbeit green

28 357857 2 PC Flat connector 25mm2 Lg.330

30 221315 1 PC Torx-soc csk head scr M5X128.8 - A2K

31 357658 8 PC Hex skt hd cap screw M5x12 MK

32 358008 8 PC Hex skt hd cap screw M3x12 MK

36 2071960 1 PC Nameplate EB 20-E v 1.6 EU service

37 320489 1 PC Sticker Kranbefestigung



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 2/7
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

38 2071963 1 PC Nameplate EB 20-E v 1.6 RU service

40 357641 1 PC Protective cap

41 357613 1 PC Cooling fan

42 357786 1 PC Earth stud

43 226442 4 PC Hex skt csk hd scr M8X1610.9 - A2K

44 357596 1 PC Contactor K1 assy

45 302093 1 PC Warning sign Kondensatoren

46 359855 1 PC Choke coil assy

47 357597 1 PC Contactor assy

48 358063 1 PC Frequency converter EB V32 Service assy

49 357657 4 PC Hex skt hd cap screw M4x12 MK

53 276745 1 PC Contact piece AT

55 358038 1 PC Filter Netz assy

57 357591 6 PC Washer 5,3x15x1,2 zinced

58 357891 1 PC Hexagon nut M5 mit PA Einlage

59 363876 1 PC Hex skt hd cap screw M8X16 stnls.A2-70

60 358050 1 PC Wire 1.6mm

61 358051 1 PC Clamping sleeve 1.5mm

76 279029 2 PC Connecting piece assy

78 357677 1 PC Connecting piece G1/4

81 358007 2 PC Hex skt csk hd scr M5x20 MK

84 358379 1 PC Valve 12W assy

85 358370 1 PC Coil 24VDC 12W



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 3/7
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

100 357885 1 PC Cable harness

101 357743 1 PC Cable harness EB-RC

102 358453 1 PC Cable harness EB-Power

104 357749 1 PC Cable harness

105 359897 1 PC Cable harness EB-Steuerung K1-K2

106 357751 1 PC Cable harness

107 357754 1 PC Cable harness

108 357755 1 PC Flexible conductor

109 357756 1 PC Flexible conductor

110 357757 1 PC Flexible conductor

111 357744 1 PC Cable harness EB-Leucht

114 357824 1 PC Sticker Wasser ein

115 358092 1 PC Sticker Ausblasen

125 358461 4 PC Screw S60ZZ-M5x20

126 359680 1 PC Grip finpt

127 359252 1 PC Housing EU servicing set

128 363876 2 PC Hex skt hd cap screw M8X16 stnls.A2-70

129 357491 2 PC Dowel pin 5m6X32ST-GEHÄRTET,
GESCHLIFFEN

130 357901 10 PC Hex skt hd cap screw M5X12 mc8.8 - A2K
SPEDCAPS 90

131 346185 10 PC Hex skt hd cap screw M6X68.8 - A2K

132 359309 4 PC Buffer Typ C 25x25

133 359269 2 PC Cable harness



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 4/7
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

134 357667 6 PC Toothed lock washer M8 zinced

135 357746 1 PC Electric plug assy

136 221321 30 PC Hex skt hd cap screw M6X208.8 - A2K

137 359915 1 PC Connecting piece

138 359755 1 PC Lid mit Dichtung left

139 359744 1 PC Lid mit Dichtung right

140 359642 1 PC Pipe short

141 362533 2 PC Clevis pin

142 359641 2 PC Pipe long

143 359859 1 PC Hose 10/7 - 337mm

145 364385 1 PC Seal

146 358009 4 PC Hex skt hd cap screw M4x8 MK

149 359274 1 PC Cable harness

150 226506 4 PC Hex skt hd cap screw M6X1212.9 - ZINTEC

151 359438 2 PC Sheet metal part FU

152 359857 1 PC Connecting piece 10 - G1/2"

153 359747 1 PC Plug M12x1,5

154 357901 6 PC Hex skt hd cap screw M5X12 mc8.8 - A2K
SPEDCAPS 90

155 359898 2 PC Cover hood

156 344917 2 PC Washer 4140 HV - A2K

157 207927 4 PC Toothed lock washer A 5.3FED-ST - A2K

161 359261 1 PC Retaining clip

901 3994 1 PC Adhesive LOCTITE 243 50CCM



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 5/7
  

 

 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 6/7
  

 

 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  5/27/2014 12:36 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
357527 10 581765 Electro box DS EB-TS20-E assy  14.05.2014 USD /350411 / * / C 7/7
  

 

 


